## Informal Provability and its Logics

Elio La Rosa
MCMP — Munich Center for Mathematical Philosophy, LMU

14 Jan 2020<br>Tribute to Kurt Gödel 2020

## Outline

- Define concepts related to that of informal provability as individuated by S4 modal operators
- Employ the concepts both from a formal (embeddings in S4) and an informal (BHK-like interpretation) point of view
- Define logics out of such characterisations
- Define a BHK-like interpretation for classical logic validities and their embedding in S4
- Employ our intuitions in a natural deduction calculus


## Outline

- Define concepts related to that of informal provability as individuated by S 4 modal operators
- Employ the concepts both from a formal (embeddings in S4) and an informal (BHK-like interpretation) point of view
- Define logies out of such characterisations
- Define a BHK-like interpretation for classical logic validities and their embedding in S4
- Employ our intuitions in a natural deduction calculus


## Outline

- Define concepts related to that of informal provability as individuated by S4 modal operators
- Employ the concepts both from a formal (embeddings in S4) and an informal (BHK-like interpretation) point of view
- Define logics out of such characterisations
- Define a BHK-like interpretation for classical logic validities and their embedding in S4
- Employ our intuitions in a natural deduction calculus


## Outline

- Define concepts related to that of informal provability as individuated by S 4 modal operators
- Employ the concepts both from a formal (embeddings in S4) and an informal (BHK-like interpretation) point of view
- Define logics out of such characterisations
- Define a BHK-like interpretation for classical logic validities and their embedding in S4
- Employ our intuitions in a natural deduction calculus


## Outline

- Define concepts related to that of informal provability as individuated by S 4 modal operators
- Employ the concepts both from a formal (embeddings in S4) and an informal (BHK-like interpretation) point of view
- Define logics out of such characterisations
- Define a BHK-like interpretation for classical logic validities and their embedding in S4
- Employ our intuitions in a natural deduction calculus


## Outline

- Define concepts related to that of informal provability as individuated by S4 modal operators
- Employ the concepts both from a formal (embeddings in S4) and an informal (BHK-like interpretation) point of view
- Define logics out of such characterisations
- Define a BHK-like interpretation for classical logic validities and their embedding in S4
- Employ our intuitions in a natural deduction calculus


## Informal ("Absolute") Provability

Gödel (1933), Myhill (1960), Leitgeb (2009)
S4 Modal logic:

- Necessitation rule: $\frac{A}{\square A}$
- K axiom: $\square(A \rightarrow B) \rightarrow(\square A \rightarrow \square B)$
- T axiom: $\square A \rightarrow A$
- 4 axiom: $\square A \rightarrow \square \square A$

Intuitive reading of $\square A: \vdash A$, that is, there is a proof of $A$.
What about other operators $\diamond, \neg \square, \neg \diamond$ ?

## Informal ("Absolute") Provability

Gödel (1933), Myhill (1960), Leitgeb (2009)
S4 Modal logic:

- Necessitation rule: $\frac{A}{\square A}$
- K axiom: $\square(A \rightarrow B) \rightarrow(\square A \rightarrow \square B)$
- $T$ axiom: $\square A \rightarrow A$
- 4 axiom: $\square A \rightarrow \square \square A$

Intuitive reading of $\square A: \vdash A$, that is, there is a proof of $A$.
What about other operators $\hat{\bullet}, \square, \square \hat{0}$ ?

## Informal ("Absolute") Provability

Gödel (1933), Myhill (1960), Leitgeb (2009)
S4 Modal logic:

- Necessitation rule: $\frac{A}{\square A}$
- K axiom: $\square(A \rightarrow B) \rightarrow(\square A \rightarrow \square B)$
- $T$ axiom: $\square A \rightarrow A$
- 4 axiom: $\square A \rightarrow \square \square A$


## Intuitive reading of $\square A: \vdash A$, that is, there is a proof of $A$.

What about other operators $仑, \square \square, \square 0$ ?

## Informal ("Absolute") Provability

Gödel (1933), Myhill (1960), Leitgeb (2009)
S4 Modal logic:

- Necessitation rule: $\frac{A}{\square A}$
- K axiom: $\square(A \rightarrow B) \rightarrow(\square A \rightarrow \square B)$
- $T$ axiom: $\square A \rightarrow A$
- 4 axiom: $\square A \rightarrow \square \square A$

Intuitive reading of $\square A: \vdash A$, that is, there is a proof of $A$.
What about other operators $\diamond, \neg \square, \neg \diamond$ ?

## Informal ("Absolute") Provability

Gödel (1933), Myhill (1960), Leitgeb (2009)
S4 Modal logic:

- Necessitation rule: $\frac{A}{\square A}$
- K axiom: $\square(A \rightarrow B) \rightarrow(\square A \rightarrow \square B)$
- $T$ axiom: $\square A \rightarrow A$
- 4 axiom: $\square A \rightarrow \square \square A$

Intuitive reading of $\square A: \vdash A$, that is, there is a proof of $A$.
What about other operators $\diamond, \neg \square, \neg \diamond$ ?

## Embeddings

Fitting (1970): $\square \diamond$-translation for classical theorems in S4:


- Weakly faithful: $\vdash_{S 4} A^{\square \diamond}$ iff $\vdash_{c} A$
- $\Delta$ interpreted as informal Consistency


## Embeddings

Fitting (1970): $\square \diamond$-translation for classical theorems in S4:

$$
\begin{array}{ccc}
\mathcal{L} & & \mathcal{L}_{\square} \\
P^{\square \diamond} & := & \square \diamond P \\
(\neg A)^{\square \diamond} & := & \square \diamond \neg A^{\square \diamond} \\
(A \wedge B)^{\square \diamond} & := & \square \diamond\left(A^{\square \diamond} \wedge B^{\square \diamond}\right) \\
(A \vee B)^{\square \diamond} & := & \square \diamond\left(A^{\square \diamond} \vee B^{\square \diamond}\right) \\
(A \rightarrow B)^{\square \diamond} & := & \square \diamond\left(A^{\square \diamond} \rightarrow B^{\square \diamond}\right) \\
(\forall x A)^{\square \diamond} & := & \square \diamond \forall x A^{\square \diamond} \\
(\exists x A)^{\square \diamond} & := & \square \diamond \exists x A^{\square \diamond}
\end{array}
$$

- Weakly faithful: $\vdash_{\mathrm{S} 4} A^{\square \diamond}$ iff $\vdash_{\mathrm{c}} A$
- $\Delta$ interpreted as informal Consistency


## Embeddings

Fitting (1970): $\square \diamond$-translation for classical theorems in S4:

$$
\begin{array}{ccc}
\mathcal{L} & & \mathcal{L}_{\square} \\
P^{\square \diamond} & := & \square \diamond P \\
(\neg A)^{\square \diamond} & := & \square \diamond \neg A^{\square \diamond} \\
(A \wedge B)^{\square \diamond} & := & \square \diamond\left(A^{\square \diamond} \wedge B^{\square \diamond}\right) \\
(A \vee B)^{\square \diamond} & := & \square \diamond\left(A^{\square \diamond} \vee B^{\square \diamond}\right) \\
(A \rightarrow B)^{\square \diamond} & := & \square \diamond\left(A^{\square \diamond} \rightarrow B^{\square \diamond}\right) \\
(\forall x A)^{\square \diamond} & := & \square \diamond \forall x A^{\square \diamond} \\
(\exists x A)^{\square \diamond} & := & \square \diamond \exists x A^{\square \diamond}
\end{array}
$$

- Weakly faithful: $\vdash_{\mathrm{S} 4} A^{\square \diamond}$ iff $\vdash_{\mathrm{c}} A$
- $\diamond$ interpreted as informal Consistency


## Embeddings

Fitting (1970): $\square \diamond$-translation for classical theorems in S4:

$$
\begin{array}{ccc}
\mathcal{L} & & \mathcal{L}_{\square} \\
P^{\square \diamond} & := & \square \diamond P \\
(\neg A)^{\square \diamond} & := & \square \diamond \neg A^{\square \diamond} \\
(A \wedge B)^{\square \diamond} & := & \square \diamond\left(A^{\square \diamond} \wedge B^{\square \diamond}\right) \\
(A \vee B)^{\square \diamond} & := & \square \diamond\left(A^{\square \diamond} \vee B^{\square \diamond}\right) \\
(A \rightarrow B)^{\square \diamond} & := & \square \diamond\left(A^{\square \diamond} \rightarrow B^{\square \diamond}\right) \\
(\forall \times A)^{\square \diamond} & := & \square \diamond \forall x A^{\square \diamond} \\
(\exists x A)^{\square \diamond} & := & \square \diamond \exists x A^{\square \diamond}
\end{array}
$$

- Weakly faithful: $\vdash_{\mathrm{S} 4} A^{\square \diamond}$ iff $\vdash_{\mathrm{c}} A$
- $\diamond$ interpreted as informal Consistency


## Square of opposition for informal provability

- if $\square A$, then $\vdash A$, that is, there is a proof of $A$.
- if $\diamond A$, then $\nvdash \neg A$, that is, there is no proof of $\neg A$.
- if $\neg \diamond A$, then $\vdash \neg A$, that is, there is a proof of $\neg A$.
- if $\neg \square A$, then $\nvdash A$, that is, there is no proof of $A$.



## Square of opposition for informal provability

- if $\square A$, then $\vdash A$, that is, there is a proof of $A$.
- if $\diamond A$, then $\nvdash \neg A$, that is, there is no proof of $\neg A$.
- if $\neg \diamond A$, then $\vdash \neg A$, that is, there is a proof of $\neg A$.
- if $\neg \square A$, then $\nvdash A$, that is, there is no proof of $A$.



## BHK interpretations

- Is it possible to characterise a logic for every point of the square?
- Is it possible to give a BHK interpretation for each one of them?


## Example:

## $\mathrm{BHK}_{\mathrm{I}}$ elements:

- (Successful) constructions
- Provability
- Logical constant clauses
- Species


## BHK interpretations

- Is it possible to characterise a logic for every point of the square?
- Is it possible to give a BHK interpretation for each one of them?


## Example:

BHKI elements:

- (Successful) constructions
- Provability
- Logical constant clauses
- Species


## BHK interpretations

- Is it possible to characterise a logic for every point of the square?
- Is it possible to give a BHK interpretation for each one of them?

Example:
BHK , elements:

- (Successful) constructions
- Provability
- Logical constant clauses
- Species


## BHK interpretations

- Is it possible to characterise a logic for every point of the square?
- Is it possible to give a BHK interpretation for each one of them?

Example:
BHK I elements:

- (Successful) constructions
- Provability
- Logical constant clauses
- Species


## Employing the concepts

Characterising the logic of Provability:

- BHK interpr. $\square$-translation
- the construction $\mathbf{c}$ proves $A \wedge B$ iff $\mathbf{c}$ is of the form $\left\langle\mathbf{c}^{\prime}, \mathbf{c}^{\prime \prime}\right\rangle$ and $\mathbf{c}^{\prime}$ proves $A$ and $c^{\prime \prime}$ proves $B$.
- the construction c proves $A \vee B$ iff $c$ is of the form $\left\langle\mathbf{i}, c^{\prime}\right\rangle$ with $\mathbf{i}$ either 0 or $\mathbf{1}$, such that for $\mathbf{i}=\mathbf{0}$ then $\mathbf{c}^{\prime}$ proves $A$ and for $\mathbf{i}=\mathbf{1}$ then $\mathbf{c}^{\prime}$ proves $B$.
- the construction $c$ proves $A \rightarrow B$ iff $c$ is a general method of construction such that applied to a hypothetical construct $c^{\prime}$ that proves $A, c\left(c^{\prime}\right)$ proves $B$.
- the construction $\mathbf{c}$ proves $\neg A$ iff c is a general method of construction such that applied to a hypothetical construct $\mathbf{c}^{\prime}$ that proves $A, \mathbf{c}\left(\mathbf{c}^{\prime}\right)$ proves $\perp$.
- the construction c proves $\forall x A$ iff c is a general method of construction such that given any individual a from the species under consideration, $\mathbf{c}(a)$ proves $A(a / x)$.
- the construction $\mathbf{c}$ proves $\exists x A$ iff $\mathbf{c}$ is of the form $\left\langle a, \mathbf{c}^{\prime}\right\rangle$, where $a$ is an individual such that $c^{\prime}$ proves $A(a / x)$.
- no construction c proves $\perp$.
- every construction $c$ proves $T$


## Employing the concepts

Characterising the logic of Provability:

- $\mathrm{BHK}_{\mathrm{I}}$ interpr.
- $\square$-translation
- the construction $\mathbf{c}$ proves $A \wedge B$ iff $\mathbf{c}$ is of the form $\left\langle\mathbf{c}^{\prime}, \mathbf{c}^{\prime \prime}\right\rangle$ and $\mathbf{c}^{\prime}$ proves $A$ and $\mathrm{c}^{\prime \prime}$ proves $B$.
- the construction c proves $A \vee B$ iff c is of the form $\left\langle\mathbf{i}, \mathrm{c}^{\prime}\right\rangle$ with $\mathbf{i}$ either 0 or $\mathbf{1}$, such that for $\mathbf{i}=\mathbf{0}$ then $\mathbf{c}^{\prime}$ proves $A$ and for $\mathbf{i}=\mathbf{1}$ then $\mathbf{c}^{\prime}$ proves $B$.
- the construction c proves $A \rightarrow B$ iff c is a general method of construction such that applied to a hypothetical construct $\mathrm{c}^{\prime}$ that proves $\mathrm{A}, \mathrm{c}\left(\mathrm{c}^{\prime}\right)$ proves $B$.
- the construction c proves $\neg A$ iff c is a general method of construction such that applied to a hypothetical construct $\mathbf{c}^{\prime}$ that proves $A, \mathbf{c}\left(\mathbf{c}^{\prime}\right)$ proves $\perp$.
- the construction c proves $\forall \times A$ iff c is a general method of construction such that given any individual a from the species under consideration, $\mathbf{c}(a)$ proves $A(a / x)$.
- the construction c proves $\exists x A$ iff c is of the form $\left\langle a, \mathrm{c}^{\prime}\right\rangle$, where $a$ is an individual such that $\mathrm{c}^{\prime}$ proves $A(a / x)$.
- no construction c proves $\perp$.
- every construction $c$ proves $T$


## Employing the concepts

Characterising the logic of Provability:

- $\mathrm{BHK}_{\mathrm{I}}$ interpr.
- $\square$-translation
- the construction $\mathbf{c}$ proves $A \wedge B$ iff $\mathbf{c}$ is of the form $\left\langle\mathbf{c}^{\prime}, \mathbf{c}^{\prime \prime}\right\rangle$ and $\mathbf{c}^{\prime}$ proves $A$ and $\mathbf{c}^{\prime \prime}$ proves $B$.
- the construction $\mathbf{c}$ proves $A \vee B$ iff $\mathbf{c}$ is of the form $\left\langle\mathbf{i}, \mathbf{c}^{\prime}\right\rangle$ with $\mathbf{i}$ either $\mathbf{0}$ or $\mathbf{1}$, such that for $\mathbf{i}=\mathbf{0}$ then $\mathbf{c}^{\prime}$ proves $A$ and for $\mathbf{i}=\mathbf{1}$ then $\mathbf{c}^{\prime}$ proves $B$.
- the construction $\mathbf{c}$ proves $A \rightarrow B$ iff $\mathbf{c}$ is a general method of construction such that applied to a hypothetical construct $\mathbf{c}^{\prime}$ that proves $A, \mathbf{c}\left(\mathbf{c}^{\prime}\right)$ proves $B$.
- the construction $\mathbf{c}$ proves $\neg A$ iff $\mathbf{c}$ is a general method of construction such that applied to a hypothetical construct $\mathbf{c}^{\prime}$ that proves $A, \mathbf{c}\left(\mathbf{c}^{\prime}\right)$ proves $\perp$.
- the construction c proves $\forall x A$ iff $\mathbf{c}$ is a general method of construction such that given any individual a from the species under consideration, $\mathbf{c}(a)$ proves $A(a / x)$.
- the construction $\mathbf{c}$ proves $\exists x A$ iff $\mathbf{c}$ is of the form $\left\langle a, \mathbf{c}^{\prime}\right\rangle$, where $a$ is an individual such that $\mathbf{c}^{\prime}$ proves $A(a / x)$.
- no construction c proves $\perp$.
- every construction c proves $T$.


## Employing the concepts

Characterising the logic of Provability:

- $\mathrm{BHK}_{\mathrm{I}}$ interpr.
- $\square$-translation

$$
\begin{array}{ccc}
\mathcal{L} & & \mathcal{L}_{\square} \\
P^{\square} & := & \square P \\
(\neg A)^{\square} & := & \square \neg A^{\square} \\
(A \wedge B)^{\square} & := & \square\left(A^{\square} \wedge B^{\square}\right) \\
(A \vee B)^{\square} & := & \square\left(A^{\square} \vee B^{\square}\right) \\
(A \rightarrow B)^{\square} & := & \square\left(A^{\left.\square \rightarrow B^{\square}\right)}\right. \\
(\forall x A)^{\square} & := & \square \forall x A^{\square} \\
(\exists x A)^{\square} & := & \square \exists x A^{\square}
\end{array}
$$

## System LJ

$$
\begin{aligned}
& P \Rightarrow P \quad \perp \Rightarrow \quad \Rightarrow \quad \frac{\Gamma \Rightarrow \psi}{\Gamma, A \Rightarrow \psi} \text { LW } \quad \frac{\Gamma \Rightarrow}{\Gamma \Rightarrow A} R W \\
& \frac{A, A, \Gamma \Rightarrow \psi}{A, \Gamma \Rightarrow \psi} \mathrm{LC} \quad \frac{\Gamma \Rightarrow A \quad A, \Pi \Rightarrow \psi}{\Gamma, \Pi \Rightarrow \psi} C u t \\
& \frac{A, \Gamma \Rightarrow \psi}{A \wedge B, \Gamma \Rightarrow \psi} \mathrm{~L} \wedge_{1} \quad \frac{B, \Gamma \Rightarrow \psi}{A \wedge B, \Gamma \Rightarrow \psi} \mathrm{~L} \wedge_{2} \quad \Gamma \Rightarrow A \quad \Gamma \Rightarrow B / \Gamma \Rightarrow A \wedge B \quad \mathrm{R} \wedge \\
& \frac{A, \Gamma \Rightarrow \Psi \quad B, \Gamma \Rightarrow \Psi}{A \vee B, \Gamma \Rightarrow \Psi} \mathrm{~L} \vee \quad \frac{\Gamma \Rightarrow A}{\Gamma \Rightarrow A \vee B} \mathrm{R}_{1} \quad \frac{\Gamma \Rightarrow B}{\Gamma \Rightarrow A \vee B} \mathrm{R}_{2} \\
& \frac{\Gamma \Rightarrow A \quad B, \Gamma \Rightarrow \Psi}{A \rightarrow B, \Gamma \Rightarrow \Psi} \mathrm{~L} \rightarrow \quad \frac{\Gamma, A \Rightarrow B}{\Gamma \Rightarrow A \rightarrow B} \mathrm{R} \rightarrow \\
& \frac{\Gamma \Rightarrow A}{\Gamma, \neg A \Rightarrow \psi} \mathrm{~L} \neg \quad \frac{A, \Gamma \Rightarrow}{\Gamma \Rightarrow \neg A} \mathrm{R} \neg \\
& \frac{A(a / x), \Gamma \Rightarrow \psi}{\forall x A, \Gamma \Rightarrow \psi} \mathrm{~L} \forall \quad \frac{\Gamma \Rightarrow A(a / x)}{\Gamma \Rightarrow \forall x A} \mathrm{R} \forall^{*} \quad \frac{A(a / x), \Gamma \Rightarrow \psi}{\exists x A, \Gamma \Rightarrow \psi} \mathrm{~L} \mathrm{\exists} \quad \frac{\Gamma \Rightarrow A(a / x)}{\Gamma \Rightarrow \exists x A} \mathrm{R} \mathrm{\exists}
\end{aligned}
$$

## General method for proving embeddings

$\Gamma^{\square} \vdash_{S_{4}} A^{\square}$ iff $\Gamma \vdash \vdash_{1} A$
$\Leftarrow$ : Show that every rule of LJ is derivable in LKS4 modulo $\square$-translation.
$\Rightarrow$ : Show that every LKS4 derivation of a $\square$-translated sequent is equivalent to a single-conclusion derivation, given cut-elimination and subformula property. Therefore, the only $\square$-translated provable sequents are single-conclusion ones. Only non-trivial case regards rule RC.
As a corollary, this entails $\Gamma^{\square} \vdash_{\text {is } 4} \Delta^{\square}$ iff $\Gamma \vdash_{।} A$.

## General method for proving embeddings

$\Gamma^{\square} \vdash_{S_{4}} A^{\square}$ iff $\Gamma \vdash_{1} A$
$\Leftarrow$ : Show that every rule of LJ is derivable in LKS4 modulo $\square$-translation.
$\Rightarrow$ : Show that every LKS4 derivation of a $\square$-translated sequent is equivalent to a single-conclusion derivation, given cut-elimination and subformula property. Therefore, the only $\square$-translated provable sequents are single-conclusion ones. Only non-trivial case regards rule RC.
As a corollary, this entails $\Gamma^{\square} \vdash_{154} A^{\square}$ iff $\Gamma \vdash_{\mid} A$.

## General method for proving embeddings

$\Gamma^{\square} \vdash_{S_{4}} A^{\square}$ iff $\Gamma \vdash_{1} A$
$\Leftarrow$ : Show that every rule of LJ is derivable in LKS4 modulo $\square$-translation.
$\Rightarrow$ : Show that every LKS4 derivation of a $\square$-translated sequent is equivalent to a single-conclusion derivation, given cut-elimination and subformula property. Therefore, the only $\square$-translated provable sequents are single-conclusion ones. Only non-trivial case regards rule RC.
As a corollary, this entails $\Gamma^{\square} \vdash_{154} A^{\square}$ iff $\Gamma \vdash_{I} A$.

## System LKS4

$$
\begin{aligned}
& P \Rightarrow P \quad \perp \Rightarrow \quad \Rightarrow T \quad \frac{\Gamma \Rightarrow \Delta}{\Gamma, A \Rightarrow \Delta} \mathrm{LW} \quad \frac{\Gamma \Rightarrow \Delta}{\Gamma \Rightarrow \Delta, A} \mathrm{RW} \\
& \frac{A, A, \Gamma \Rightarrow \Delta}{A, \Gamma \Rightarrow \Delta} \operatorname{LC} \quad \frac{\Gamma \Rightarrow \Delta, A, A}{\Gamma \Rightarrow \Delta, A} \mathrm{RC} \quad \frac{\Gamma \Rightarrow \Lambda, A \quad A, \Pi \Rightarrow \Delta}{\Gamma, \Pi \Rightarrow \Lambda, \Delta} C u t \\
& \left.\frac{A, \Gamma \Rightarrow \Delta}{A \wedge B, \Gamma \Rightarrow \Delta} \mathrm{~L} \wedge_{1} \quad \frac{B, \Gamma \Rightarrow \Delta}{A \wedge B, \Gamma \Rightarrow \Delta} \mathrm{~L}_{2} \quad \Gamma \Rightarrow \Delta, A \quad \Gamma \Rightarrow \Delta, B\right) \quad \mathrm{R} \wedge \\
& \frac{A, \Gamma \Rightarrow \Delta}{A \vee B, \Gamma \Rightarrow \Delta} \quad B, \Gamma \Rightarrow \Delta V^{\prime} \quad \frac{\Gamma \Rightarrow \Delta, A}{\Gamma \Rightarrow \Delta, A \vee B} R \vee_{1} \quad \frac{\Gamma \Rightarrow \Delta, B}{\Gamma \Rightarrow \Delta, A \vee B} \vee_{2} \\
& \frac{\Gamma, A \Rightarrow \Delta, B}{\Gamma \Rightarrow \Delta, A \rightarrow B} \mathrm{~L} \rightarrow \quad \frac{\Gamma \Rightarrow \Delta, A \quad B, \Gamma \Rightarrow \Delta}{A \rightarrow B, \Gamma \Rightarrow \Delta} \mathrm{~L} \rightarrow \\
& \frac{\Gamma \Rightarrow \Delta, A}{\Gamma, \neg A \Rightarrow \Delta}\left\llcorner\neg \quad \frac{A, \Gamma \Rightarrow \Delta}{\Gamma \Rightarrow \Delta, \neg A} \mathrm{R} \neg\right. \\
& \frac{\Gamma, A \Rightarrow \Delta}{\Gamma, \square A \Rightarrow \Delta} \mathrm{~L} \square \quad \frac{\square \Gamma \Rightarrow \Delta \Delta, A}{\square \Gamma \Rightarrow \Delta \Delta, \square A} \mathrm{R} \square \quad \frac{\square \Gamma, A \Rightarrow \Delta \Delta}{\square \Gamma, \Delta A \Rightarrow \diamond \Delta} \mathrm{~L} \diamond \quad \frac{\Gamma \Rightarrow \Delta, A}{\Gamma \Rightarrow \Delta, \Delta A} \mathrm{R} \diamond \\
& \frac{A(a / x), \Gamma \Rightarrow \Delta}{\forall x A, \Gamma \Rightarrow \Delta} L \forall \quad \frac{\Gamma \Rightarrow \Delta, A(a / x)}{\Gamma \Rightarrow \Delta, \forall x A} \mathrm{R}^{*} \quad \frac{A(a / x), \Gamma \Rightarrow \Delta}{\exists x A, \Gamma \Rightarrow \Delta} \mathrm{~L} \mathrm{\exists} \exists^{*} \quad \frac{\Gamma \Rightarrow \Delta, A(a / x)}{\Gamma \Rightarrow \Delta, \exists x A} \mathrm{R} \mathrm{\exists}
\end{aligned}
$$

## System LKS4

$$
\begin{aligned}
& P \Rightarrow P \quad \perp \Rightarrow \quad \Rightarrow T \quad \frac{\Gamma \Rightarrow \Delta}{\Gamma, A \Rightarrow \Delta} \mathrm{LW} \quad \frac{\Gamma \Rightarrow \Delta}{\Gamma \Rightarrow \Delta, A} \mathrm{RW} \\
& \frac{A, A, \Gamma \Rightarrow \Delta}{A, \Gamma \Rightarrow \Delta} \operatorname{LC} \quad \frac{\Gamma \Rightarrow \Delta, A, A}{\Gamma \Rightarrow \Delta, A} \mathrm{RC} \quad \frac{\Gamma \Rightarrow \Lambda, A \quad A, \Pi \Rightarrow \Delta}{\Gamma, \Pi \Rightarrow \Lambda, \Delta} C u t \\
& \frac{A, \Gamma \Rightarrow \Delta}{A \wedge B, \Gamma \Rightarrow \Delta} \mathrm{~L} \wedge_{1} \quad \frac{B, \Gamma \Rightarrow \Delta}{A \wedge B, \Gamma \Rightarrow \Delta} \mathrm{~L} \wedge_{2} \quad \Gamma \Rightarrow \Delta, A \quad \Gamma \Rightarrow \Delta, B \quad \Gamma \neq \Delta, A \wedge B \quad \mathrm{R} \wedge \\
& \frac{A, \Gamma \Rightarrow \Delta}{A \vee B, \Gamma \Rightarrow \Delta} \quad B, \Gamma \Rightarrow \Delta / \quad \frac{\Gamma \Rightarrow \Delta, A}{\Gamma \Rightarrow \Delta, A \vee B} R \vee_{1} \quad \frac{\Gamma \Rightarrow \Delta, B}{\Gamma \Rightarrow \Delta, A \vee B} \mathrm{RV}_{2} \\
& \frac{\Gamma, A \Rightarrow \Delta, B}{\Gamma \Rightarrow \Delta, A \rightarrow B} \mathrm{~L} \rightarrow \quad \frac{\Gamma \Rightarrow \Delta, A \quad B, \Gamma \Rightarrow \Delta}{A \rightarrow B, \Gamma \Rightarrow \Delta} \mathrm{~L} \rightarrow \\
& \frac{\Gamma \Rightarrow \Delta, A}{\Gamma, \neg A \Rightarrow \Delta}\left\llcorner\neg \quad \frac{A, \Gamma \Rightarrow \Delta}{\Gamma \Rightarrow \Delta, \neg A} \mathrm{R} \neg\right. \\
& \frac{\Gamma, A \Rightarrow \Delta}{\Gamma, \square A \Rightarrow \Delta} \mathrm{~L} \square \quad \frac{\square \Gamma \Rightarrow \Delta \Delta, A}{\square \Gamma \Rightarrow \Delta \Delta, \square A} \mathrm{R} \square \quad \frac{\square \Gamma, A \Rightarrow \Delta \Delta}{\square \Gamma, \Delta A \Rightarrow \diamond \Delta} \mathrm{~L} \diamond \quad \frac{\Gamma \Rightarrow \Delta, A}{\Gamma \Rightarrow \Delta, \Delta A} \mathrm{R} \diamond \\
& \frac{A(a / x), \Gamma \Rightarrow \Delta}{\forall x A, \Gamma \Rightarrow \Delta} L \forall \quad \frac{\Gamma \Rightarrow \Delta, A(a / x)}{\Gamma \Rightarrow \Delta, \forall x A} \mathrm{R}^{*} \quad \frac{A(a / x), \Gamma \Rightarrow \Delta}{\exists x A, \Gamma \Rightarrow \Delta} \mathrm{~L} \mathrm{\exists} \exists^{*} \quad \frac{\Gamma \Rightarrow \Delta, A(a / x)}{\Gamma \Rightarrow \Delta, \exists x A} \mathrm{R} \mathrm{\exists}
\end{aligned}
$$

## Employing the concepts

Characterising the logic of Refutability:

- $\neg$-translation


## Propositional part: Shramko (2016)



In Classical logic, $A \prec B:=(\neg B \wedge A)$, that is, $\neg(B \rightarrow A)$.

## Employing the concepts

Characterising the logic of Refutability:

- $\neg\rangle$-translation


## Propositional part: Shramko (2016)



In Classical logic, $A \prec B:=(\neg B \wedge A)$, that is, $\neg(B \rightarrow A)$.

## Employing the concepts

Characterising the logic of Refutability:

- $\neg \diamond$-translation

Propositional part: Shramko (2016)

$$
\begin{aligned}
& \mathcal{L} \quad \mathcal{L}_{\square} \\
& P \neg \quad \quad:=\quad \diamond P \\
& (\neg A)^{\neg \diamond} \quad:=\quad \diamond \neg A^{\neg \diamond} \\
& (A \wedge B)^{\neg \diamond} \quad:=\diamond\left(A^{\neg \triangleleft} \wedge B^{\neg \diamond}\right) \\
& (A \vee B)^{\neg \triangleleft}:=\diamond\left(A^{\neg} \diamond \vee B \neg\right) \\
& (A \prec B)^{\neg} \diamond:=\diamond\left(A^{\neg} \diamond \prec B^{\neg} \diamond\right) \\
& (\forall x A)^{\neg \diamond} \quad:=\quad \Delta \forall x A^{\neg} \\
& (\exists x A)^{\neg \diamond} \quad:=\quad \diamond \exists x A^{\neg}
\end{aligned}
$$

In Classical logic, $A \prec B:=(\neg B \wedge A)$, that is, $\neg(B \rightarrow A)$.

## System LDJ

$$
\begin{aligned}
& P \Rightarrow P \quad \perp \Rightarrow \quad \Rightarrow \top \quad \frac{\Rightarrow \Delta}{A \Rightarrow \Delta} \mathrm{LW} \quad \frac{\Phi \Rightarrow \Delta}{\Phi \Rightarrow A, \Delta} \mathrm{RW} \\
& \frac{\Phi \Rightarrow \Delta, A, A}{\Phi \Rightarrow \Delta, A} \operatorname{RC} \quad \frac{\Phi \Rightarrow \Delta, A \quad A \Rightarrow \Lambda}{\Phi \Rightarrow \Delta, \Lambda} C u t \\
& \frac{A \Rightarrow \Delta}{A \wedge B \Rightarrow \Delta} \mathrm{~L} \wedge_{1} \quad \frac{B \Rightarrow \Delta}{A \wedge B \Rightarrow \Delta} \mathrm{~L} \wedge_{2} \quad \frac{\Phi \Rightarrow \Delta, A \quad \Phi \Rightarrow \Delta, B}{\Phi \Rightarrow \Delta, A \wedge B} \mathrm{R} \wedge \\
& \frac{A \Rightarrow \Delta \quad B \Rightarrow \Delta}{A \vee B \Rightarrow \Delta} \mathrm{~L} \vee \quad \frac{\Phi \Rightarrow \Delta, A}{\Phi \Rightarrow \Delta, A \vee B} \mathrm{R} \vee_{1} \quad \begin{array}{l}
\Phi \Rightarrow \Delta, B \\
\mathrm{R}_{2}
\end{array} \\
& \frac{A \Rightarrow B, \Delta}{B \prec A \Rightarrow \Delta} L \prec \quad \frac{\Phi \Rightarrow A \quad B \Rightarrow \Delta}{\Phi \Rightarrow \Delta, B \prec A} \mathrm{R} \prec \\
& \frac{\Rightarrow \Delta, A}{\neg A \Rightarrow \Delta} \mathrm{~L} \neg \quad \frac{A \Rightarrow \Delta}{\Rightarrow \Delta, \neg A} \mathrm{R} \neg \\
& \frac{A(a / x) \Rightarrow \Delta}{\forall x A \Rightarrow \Delta} \mathrm{~L} \forall \quad \frac{\Phi \Rightarrow \Delta, A(a / x)}{\Phi \Rightarrow \Delta, \forall x A} \mathrm{R}^{*} \quad \frac{A(a / x) \Rightarrow \Delta}{\exists x A \Rightarrow \Delta} \mathrm{~L} \mathrm{\exists} \quad \frac{\Phi \Rightarrow \Delta, A(a / x)}{\Phi \Rightarrow \Delta, \exists x A} \mathrm{R} \mathrm{\exists}
\end{aligned}
$$

## Employing the concepts

Characterising the logic of Consistency and Unprovability:

- $\diamond$-translation and $\neg \square$-translation


## System LJ

Same as LJ , minus $\mathrm{L} \rightarrow$ and $\mathrm{R} \rightarrow$, plus

$$
\frac{A, \Gamma \Rightarrow \Psi}{B \prec A, \Gamma \Rightarrow \psi} \mathrm{~L}_{<} \quad \frac{\Gamma \Rightarrow B}{B \prec A, \Gamma \Rightarrow \psi} \mathrm{~L}_{1} \prec_{2} \quad \frac{\Gamma \Rightarrow A}{\Gamma \Rightarrow B \prec A} \mathrm{R} \prec
$$

## System LDJ $\rightarrow$

Same as LDJ, minus $\mathrm{L} \prec$ and $\mathrm{R} \prec$, plus

$$
\frac{\Rightarrow \Delta, A \quad B \Rightarrow \Delta}{A \rightarrow B \Rightarrow \Delta} \mathrm{~L} \rightarrow \frac{A \Rightarrow \Delta}{\Rightarrow A \rightarrow B, \Delta} \mathrm{R}_{1} \quad \frac{\Phi \Rightarrow B}{\Phi \Rightarrow A \rightarrow B} \mathrm{R} \rightarrow_{2}
$$

## Translations schemes

$$
\begin{aligned}
& \begin{array}{cccccc}
P^{\square} & := & \square P & P^{\neg \diamond} & := & \diamond P \\
(\neg A)^{\square} & := & \square \neg A^{\square} & (\neg A)^{\neg \diamond} & := & \diamond \neg A^{\neg \diamond}
\end{array} \\
& (A \wedge B)^{\square} \quad:=\quad \square\left(A^{\square} \wedge B^{\square}\right) \\
& (A \vee B)^{\square} \quad:=\square\left(A^{\square} \vee B^{\square}\right) \\
& (A \wedge B)^{\neg \diamond}:=\diamond\left(A^{\neg \diamond} \wedge B^{\neg \diamond}\right) \\
& (A \rightarrow B)^{\square}:=\square\left(A^{\square} \rightarrow B^{\square}\right) \\
& (\forall x A)^{\square} \quad:=\quad \square \forall x A^{\square} \\
& (\exists x A)^{\square} \quad:=\quad \square \exists x A^{\square} \\
& \begin{array}{ccc}
P^{\diamond} & := & \diamond P \\
(\neg A)^{\diamond} & := & \diamond A^{\diamond} \\
(A \wedge B)^{\diamond} & := & \diamond\left(A^{\diamond} \wedge B^{\diamond}\right) \\
(A \vee B)^{\diamond} & := & \diamond\left(A^{\diamond} \vee B^{\diamond}\right) \\
(A \rightarrow B)^{\diamond} & := & \diamond\left(A^{\diamond} \rightarrow B^{\diamond}\right) \\
(\forall \times A)^{\diamond} & := & \diamond \forall \times A^{\diamond} \\
(\exists x A)^{\diamond} & := & \diamond \exists x A^{\diamond}
\end{array}
\end{aligned}
$$

## Square of opposition for informal provability logics

- $\Gamma^{\square} \vdash_{S 4} A^{\square}$ iff $\Gamma \vdash_{1} A$
- $\Gamma^{\diamond} \vdash_{\mathrm{S}_{4}} A^{\diamond}$ iff $\Gamma \vdash_{\mathrm{DI} \rightarrow} A$
- $\left.\Gamma\urcorner \diamond \vdash_{S 4} A\right\urcorner \diamond$ iff $\Gamma \vdash_{\text {DI }} A$
- $\Gamma \square \vdash_{\mathrm{S}_{4}} A \neg \square$ iff $\Gamma \vdash_{1<} A$



## Square of opposition for informal provability logics

- $\Gamma^{\square} \vdash_{\mathrm{s} 4} A^{\square}$ iff $\Gamma \vdash$ । $A$
- $\left.\Gamma^{\neg \diamond} \vdash_{S 4} A\right\urcorner$ iff $\Gamma \vdash_{\text {DI }} A$
- $\Gamma^{\diamond} \vdash_{\mathrm{S} 4} A^{\diamond}$ iff $\Gamma \vdash_{\mathrm{DI}} \rightarrow A$
- $\Gamma^{\square} \vdash_{\vdash^{4} 4} A^{\square}$ iff $\Gamma \vdash_{1<} A$


$$
\begin{array}{ccc}
(\Gamma \Rightarrow \Delta)^{\star} & = & \Delta^{\star} \Rightarrow \Gamma^{\star} \\
P^{\star} & = & P \\
(\neg A)^{\star} & = & \neg A^{\star} \\
(A \wedge B)^{\star} & = & A^{\star} \vee B^{\star} \\
(A \vee B)^{\star} & = & A^{\star} \wedge B^{\star} \\
(A \rightarrow B)^{\star} & = & A^{\star} \prec B^{\star} \\
(A \prec B)^{\star} & = & A^{\star} \rightarrow B^{\star} \\
(\forall x A)^{\star} & = & \exists x(A)^{\star} \\
(\exists x A)^{\star} & = & \forall x(A)^{\star}
\end{array}
$$

## Dual-Glivenko theorem for $\mathrm{DI} \rightarrow: \vdash_{\mathrm{DI}} \rightarrow A$ iff $\vdash_{\mathrm{c}} A$ for $A$ propositional

## Corollaries:



$$
\begin{array}{ccc}
(\Gamma \Rightarrow \Delta)^{\star} & = & \Delta^{\star} \Rightarrow \Gamma^{\star} \\
P^{\star} & = & P \\
(\neg A)^{\star} & = & \neg A^{\star} \\
(A \wedge B)^{\star} & = & A^{\star} \vee B^{\star} \\
(A \vee B)^{\star} & = & A^{\star} \wedge B^{\star} \\
(A \rightarrow B)^{\star} & = & A^{\star} \prec B^{\star} \\
(A \prec B)^{\star} & = & A^{\star} \rightarrow B^{\star} \\
(\forall x A)^{\star} & = & \exists x(A)^{\star} \\
(\exists x A)^{\star} & = & \forall x(A)^{\star}
\end{array}
$$

Dual-Glivenko theorem for $\mathrm{DI} \rightarrow: \vdash_{\mathrm{DI}} \rightarrow A$ iff $\vdash_{\mathrm{c}} A$ for $A$ propositional Corollaries:


$$
\begin{array}{ccc}
(\Gamma \Rightarrow \Delta)^{\star} & = & \Delta^{\star} \Rightarrow \Gamma^{\star} \\
P^{\star} & = & P \\
(\neg A)^{\star} & = & \neg A^{\star} \\
(A \wedge B)^{\star} & = & A^{\star} \vee B^{\star} \\
(A \vee B)^{\star} & = & A^{\star} \wedge B^{\star} \\
(A \rightarrow B)^{\star} & = & A^{\star} \prec B^{\star} \\
(A \prec B)^{\star} & = & A^{\star} \rightarrow B^{\star} \\
(\forall x A)^{\star} & = & \exists x(A)^{\star} \\
(\exists x A)^{\star} & = & \forall x(A)^{\star}
\end{array}
$$

Dual-Glivenko theorem for $\mathrm{DI}^{\rightarrow}: \vdash_{\mathrm{DI}} \rightarrow A$ iff $\vdash_{\mathrm{c}} A$ for $A$ propositional
Corollaries:

- $\Gamma^{\square} \vdash_{\text {IS4 }} A^{\square}$ iff $\Gamma \vdash_{1} A$
- $\Gamma^{\diamond} \vdash_{\mathrm{DIS} 4} \rightarrow A^{\diamond}$ iff $\Gamma \vdash_{\mathrm{DI}} \rightarrow A$
- $\left.\Gamma \neg \diamond \vdash_{\text {DIS } 4} A\right\urcorner$ iff $\Gamma \vdash_{\text {DI }} A$
- $\Gamma^{\neg \square} \vdash_{1 S 4<} A^{\square \square}$ iff $\Gamma \vdash_{1^{\kappa}} A$.


## Semantic Intuition

For $R$ reflexive and transitive and $w, v$ belong to the set of points of evaluation

- $w \Vdash_{1} A \rightarrow B$ iff $\forall v w R v$ then $v \Vdash_{1} A$ implies $v \Vdash_{1} B$
- $w \Vdash_{\mathrm{DI}} A \prec B$ iff $\exists v v R w$ then $v \Vdash_{\mathrm{DI}} A$ and not $v \Vdash_{\mathrm{DI}} B$
- $w \Vdash_{\mathrm{DI}} \rightarrow A \rightarrow B$ iff $\exists v v R w$ then $v \Vdash_{\mathrm{DI}} \rightarrow A$ implies $v \Vdash_{\mathrm{DI}} \rightarrow B$
- $w \Vdash_{\Vdash^{\kappa}} A \prec B$ iff $\forall v w R v$ then $v \Vdash_{\mathfrak{l}^{\kappa}} A$ and not $v \Vdash_{\Vdash^{\kappa}} B$
- Increasing domain: $\operatorname{I}$ and $\mathrm{I}^{<}$
- Decreasing domain: DI and $\mathrm{DI}^{\rightarrow}$

Characterising the logic of Consistency:

- $\diamond$-translation
- $\mathrm{BHK}_{\mathrm{DI}} \rightarrow$ interpr.
- the abstraction a does not refute $A \wedge B$ iff $\mathbf{s}$ is of the form $\left\langle\mathbf{i}, \mathbf{a}^{\prime}\right\rangle$ with $\mathbf{i}$ either $\mathbf{0}$ or $\mathbf{1}$, such that for $\mathbf{i}=\mathbf{0}$ then $\mathbf{a}^{\prime}$ does not refute $A$ and for $\mathbf{i}=\mathbf{1}$ then $\mathbf{a}^{\prime}$ does not refute $B$.
- the abstraction a does not refute $A \vee B$ iff $a$ is of the form $\left\langle\mathrm{a}^{\prime}, \mathrm{a}^{\prime \prime}\right\rangle$ and $\mathrm{a}^{\prime}$ does not refute $A$ and $\mathbf{a}^{\prime \prime}$ does not refute $B$.
- the abstraction a does not refute $A \rightarrow B$ iff a is a general method of abstraction such that for an hypothetical abstraction $\mathrm{a}^{\prime}$ that does not refute $A$, the abstract $a\left(a^{\prime}\right)$ does not refute $B$.
- the abstraction a does not refute $\neg A$ iff a is a general method of abstraction such that for an hypothetical abstraction a' that does not refute $A$, the abstract $\mathrm{a}\left(\mathrm{a}^{\prime}\right)$ does not refute $\perp$.
- the abstraction a does not refute $\forall x A$ iff a is of the form $\left\langle\mathrm{a}, \mathrm{a}^{\prime}\right\rangle$, where a is an individual such that $\mathrm{a}^{\prime}$ does not refute $A(a / x)$.
- the abstraction a does not refute $\exists x A$ iff a is a general method of abstraction such that given any individual a from the species under consideration, $\mathrm{a}(\mathrm{a})$ does not refute $A(a / x)$.
- no abstraction does not refute $\perp$.
- every abstraction does not refute T.

Characterising the logic of Consistency:

- $\diamond$-translation
- $\mathrm{BHK}_{\mathrm{DI}} \rightarrow$ interpr.
- the abstraction a does not refute $A \wedge B$ iff $\mathbf{s}$ is of the form $\left\langle\mathbf{i}, \mathbf{a}^{\prime}\right\rangle$ with $\mathbf{i}$ either $\mathbf{0}$ or $\mathbf{1}$, such that for $\mathbf{i}=\mathbf{0}$ then $\mathbf{a}^{\prime}$ does not refute $A$ and for $\mathbf{i}=\mathbf{1}$ then $\mathbf{a}^{\prime}$ does not refute $B$.
- the abstraction a does not refute $A \vee B$ iff $\mathbf{a}$ is of the form $\left\langle\mathbf{a}^{\prime}, \mathbf{a}^{\prime \prime}\right\rangle$ and $\mathbf{a}^{\prime}$ does not refute $A$ and $\mathbf{a}^{\prime \prime}$ does not refute $B$.
- the abstraction a does not refute $A \rightarrow B$ iff a is a general method of abstraction such that for an hypothetical abstraction $\mathbf{a}^{\prime}$ that does not refute $A$, the abstract $\mathbf{a}\left(\mathbf{a}^{\prime}\right)$ does not refute $B$.
- the abstraction a does not refute $\neg A$ iff a is a general method of abstraction such that for an hypothetical abstraction $\mathbf{a}^{\prime}$ that does not refute $A$, the abstract $\mathbf{a}\left(\mathbf{a}^{\prime}\right)$ does not refute $\perp$.
- the abstraction a does not refute $\forall x A$ iff $\mathbf{a}$ is of the form $\left\langle a, \mathbf{a}^{\prime}\right\rangle$, where $a$ is an individual such that $\mathbf{a}^{\prime}$ does not refute $A(a / x)$.
- the abstraction a does not refute $\exists x A$ iff a is a general method of abstraction such that given any individual a from the species under consideration, $\mathbf{a}(\mathrm{a})$ does not refute $A(a / x)$.
- no abstraction does not refute $\perp$.
- every abstraction does not refute $T$.


## Classical Logic

$$
\begin{aligned}
& \begin{array}{cccccc}
P^{\square} & := & \square P & P^{\ominus} & := & \diamond P \\
(\neg A)^{『} & := & \square \neg A^{\diamond} & (\neg A)^{\diamond} & := & \diamond \neg A^{\bullet}
\end{array} \\
& (A \wedge B)^{\diamond} \quad:=\square\left(A^{『} \wedge B^{\boxminus}\right) \quad(A \wedge B)^{\diamond} \quad:=\diamond\left(A^{\ominus} \wedge B^{\ominus}\right) \\
& (A \vee B)^{\square} \quad:=\square\left(A^{\square} \vee B^{『}\right) \quad(A \vee B)^{\diamond} \quad:=\diamond\left(A^{\diamond} \vee B^{\ominus}\right) \\
& (A \rightarrow B)^{\square} \quad:=\square\left(A^{\diamond} \rightarrow B^{『}\right) \\
& (\forall \times A)^{\square} \quad:=\quad \square \forall \times A^{\square} \\
& (\exists A)^{\square} \quad:=\quad \square \exists A^{\square} \\
& (A \rightarrow B)^{\diamond}:=\diamond\left(A^{\bullet} \rightarrow B^{\diamond}\right) \\
& \begin{array}{lll}
(\forall x A)^{\diamond} & := & \diamond \forall x A^{\diamond} \\
(\exists x A)^{\diamond} & := & \diamond \exists x A^{\diamond}
\end{array}
\end{aligned}
$$

## Classical Logic

$$
\begin{aligned}
& \begin{array}{cccccc}
P^{\square} & := & \square P & P^{\ominus} & := & \diamond P \\
(\neg A)^{\square} & := & \square \neg A^{\diamond} & (\neg A)^{\diamond} & := & \diamond \neg A^{\bullet}
\end{array} \\
& (A \wedge B)^{\diamond} \quad:=\square\left(A^{『} \wedge B^{\boxminus}\right) \quad(A \wedge B)^{\diamond} \quad:=\diamond\left(A^{\ominus} \wedge B^{\ominus}\right) \\
& (A \vee B)^{\square} \quad:=\square\left(A^{\square} \vee B^{Ð}\right) \quad(A \vee B)^{\ominus} \quad:=\diamond\left(A^{\ominus} \vee B^{\ominus}\right) \\
& (A \rightarrow B)^{\square} \quad:=\square\left(A^{\ominus} \rightarrow B^{『}\right) \\
& (A \rightarrow B)^{\diamond}:=\diamond\left(A^{\bullet} \rightarrow B^{\ominus}\right) \\
& (\forall x A)^{\square} \quad:=\quad \square \forall x A^{\square} \\
& (\exists A)^{\square} \quad:=\quad \square \exists A^{\square} \\
& \begin{array}{lll}
(\forall x A)^{\diamond} & := & \diamond \forall x A^{\diamond} \\
(\exists x A)^{\diamond} & := & \diamond \exists x A^{\diamond}
\end{array}
\end{aligned}
$$

$\Gamma^{\square} \vdash_{\mathrm{S} 4} A^{\diamond}$ iff $\Gamma \vdash_{\mathrm{c}} A$.

## Classical logic

$\mathrm{BHK}_{1}+\mathrm{BHK}_{\mathrm{DI} \rightarrow}$, except for implication and negation, plus:

- the construction c proves $A \rightarrow B$ iff $\mathbf{c}$ is a general method of construction such that applied to a hypothetical abstraction a that that does not refute $A, \mathbf{c}(\mathbf{a})$ proves $B$.
- the construction $\mathbf{c}$ proves $\neg A$ iff $\mathbf{c}$ is a general method of construction such that applied to a hypothetical abstraction a that that does not refute $A, \mathbf{c}(\mathrm{a})$ proves
- the abstraction a does not refute $A \rightarrow B$ iff a is a general method of abstraction such that for $\mathbf{c}$ that proves $A$, the abstract $\mathbf{a}(\mathbf{c})$ does not refute $B$.
- the abstraction a does not refute $\neg A$ iff a is a general method of abstraction such that for $\mathbf{c}$ that proves $A$, the abstract $\mathbf{a}(\mathbf{c})$ does not refute $\perp$.


## Classical logic

$\mathrm{BHK}_{1}+\mathrm{BHK}_{\mathrm{DI} \rightarrow}$, except for implication and negation, plus:

- the construction c proves $A \rightarrow B$ iff $\mathbf{c}$ is a general method of construction such that applied to a hypothetical abstraction a that that does not refute $A, \mathbf{c}(\mathbf{a})$ proves $B$.
- the construction $\mathbf{c}$ proves $\neg A$ iff c is a general method of construction such that applied to a hypothetical abstraction a that that does not refute $A, \mathbf{c}(\mathbf{a})$ proves $\perp$.
- the abstraction a does not refute $A \rightarrow B$ iff a is a general method of abstraction such that for $\mathbf{c}$ that proves $A$, the abstract $\mathbf{a}(\mathbf{c})$ does not refute $B$.
- the abstraction a does not refute $\neg A$ iff a is a general method of abstraction such that for $\mathbf{c}$ that proves $A$, the abstract $\mathbf{a}(\mathbf{c})$ does not refute $\perp$.


## Relations with Natural deduction calculi

There is a quite clear correspondence between $\mathrm{BHK}_{I}$ and natural deduction for I, that is, NJ. There is also one for $\mathrm{BHK}_{\mathrm{DI}} \rightarrow$ which leads to a calculus NDJ $\rightarrow$ (Tranchini, 2012) "dual" to NJ in the same way in which LJ is dual to $\mathrm{LDJ} \rightarrow$.

There is a way of combining the two structures in order to get Classical logic which looks very different from the standard natural deduction calculi for C, that is, NK, but seem to be in a natural correspondence with a (single-conclusion) sequent calculus for classical logic.

## System NKM

$$
\begin{aligned}
& \begin{array}{cc}
C \\
A \wedge B \quad C \quad \\
\\
\\
\\
\wedge
\end{array} \\
& \begin{array}{cc}
C & C \\
\vdots & \mathcal{D}_{1} \\
\vdots \mathcal{D}_{2} & \frac{A \wedge B}{A} \\
\mathrm{E} \wedge_{1} & \frac{A \wedge B}{B} \mathrm{E} \wedge_{2}
\end{array} \\
& \langle A\rangle \quad\langle B\rangle
\end{aligned}
$$

$$
\frac{A}{A \vee B} \vee_{1} \quad \frac{B}{A \vee B} I \vee_{2} \quad \begin{array}{ccc} 
& \vdots \mathcal{D}_{1} & \vdots \mathcal{D}_{2} \\
& \frac{A \vee B}{C} & C \\
& \mathrm{C} V
\end{array}
$$

$$
\begin{aligned}
& \frac{\top}{A \rightarrow B \quad A}{ }^{\prime} \rightarrow_{1} \\
& \frac{B}{A \rightarrow B} \mathrm{I}_{2} \quad \frac{A \rightarrow B \quad A}{B} \mathrm{E} \rightarrow \quad \frac{A}{\top} \top \quad \frac{\perp}{A} \perp \\
& \langle B\rangle \\
& \frac{C}{\forall x A \quad C} \forall^{*} \\
& \frac{\forall x A}{A(a)} \mathrm{E} \forall \quad \frac{A(a)}{\exists x A} \text { 壮 } \\
& \text { [ } A(a)] \\
& \langle A(a)\rangle
\end{aligned}
$$

Proof of $\neg A \rightarrow A \vdash \mathrm{c} A$ :

$$
\mathrm{E} \rightarrow \frac{\neg A \rightarrow A \quad \frac{\mathrm{~T}}{\neg A} A^{\prime} \rightarrow_{1}}{A}
$$

$$
\text { Proof of } \vdash_{\mathrm{c}} \neg \neg \forall x(A(x) \vee \neg A(x)) \text { : }
$$



Proof of $\neg A \rightarrow A \vdash c A:$

Proof of $\vdash_{\mathrm{c}} \neg \neg \forall x(A(x) \vee \neg A(x))$ :

## System LKS

$$
\begin{aligned}
& \overline{\vdash P} \quad \overline{P \vdash \perp} \\
& \begin{array}{lll}
\vdots & \mathcal{D}^{1} & \vdots \mathcal{D}^{2} \quad \Rightarrow \top
\end{array} \\
& \frac{\Gamma \vdash C \quad \Gamma \vdash C}{\Gamma \vdash C} M C \\
& \frac{\Gamma \Rightarrow C}{\Gamma, A \Rightarrow C} \operatorname{LW} \quad \frac{\Gamma \Rightarrow \perp}{\Gamma \Rightarrow A} \operatorname{Exp} \quad \frac{A, A, \Gamma \Rightarrow C}{A, \Gamma \Rightarrow C} \operatorname{LC} \quad \frac{\Gamma \Rightarrow A \quad A, \Pi \Rightarrow C}{\Gamma, \Pi \Rightarrow C} C u t \\
& \frac{A, \Gamma \Rightarrow C}{A \wedge B, \Gamma \Rightarrow C} \mathrm{~L} \wedge_{1} \quad \frac{B, \Gamma \Rightarrow C}{A \wedge B, \Gamma \Rightarrow C} \mathrm{~L} \wedge_{2} \quad \Gamma \Rightarrow A \quad \Gamma \Rightarrow B / \Gamma \Rightarrow A \wedge B \quad \mathrm{R} \wedge \\
& \frac{A, \Gamma \Rightarrow C \quad B, \Gamma \Rightarrow C}{A \vee B, \Gamma \Rightarrow C} \mathrm{~L} \vee \quad \frac{\Gamma \Rightarrow A}{\Gamma \Rightarrow A \vee B} \mathrm{R}_{1} \quad \frac{\Gamma \Rightarrow B}{\Gamma \Rightarrow A \vee B} \mathrm{R}_{2} \\
& \frac{\Gamma \Rightarrow A \quad B, \Gamma \Rightarrow C}{A \rightarrow B, \Gamma \Rightarrow C} \mathrm{~L} \rightarrow \frac{\Gamma, A \Rightarrow B}{\Gamma \Rightarrow A \rightarrow B} \mathrm{R} \rightarrow \\
& \frac{A(a / x), \Gamma \Rightarrow C}{\forall x A, \Gamma \Rightarrow C} L \forall \quad \frac{\Gamma \Rightarrow A(a / x)}{\Gamma \Rightarrow \forall x A} \mathrm{R}^{*} \quad \frac{A(a / x), \Gamma \Rightarrow C}{\exists x A, \Gamma \Rightarrow C} \quad \mathrm{~L} \mathrm{\exists} \quad \frac{\Gamma \Rightarrow A(a / x)}{\Gamma \Rightarrow \exists x A} \mathrm{R} \mathrm{\exists}
\end{aligned}
$$

Thank you!
lrslei@gmail.com

## Bibliography

Feferman, S., Dawson, J. W., Kleene, S. C., Moore, G. H., \& Solovay, R. M. (Eds.). (1986). Kurt Gödel: Collected Works: Volume I: Publications 1929-1936 (Vol. 1). Oxford University Press.
Feferman, S., Dawson Jr., J. W., Goldfarb, W., Parson, C., \& Solovay, R. N. (Eds.). (1995). Kurt Gödel: Collected Works: Volume III: Unpublished essays and lectures (Vol. 3). Oxford University Press.
Fitting, M. (1970). An embedding of classical logic in S4. The Journal of Symbolic Logic, 35(4), 529-534.
French, R. (2019). Notational variance and its variants. Topoi, 38(2), 321-331.
Gabbay, D. M., Skvortsov, D., \& Shehtman, V. (2009). Quantification in nonclassical logic (Vol. 153). Elsevier.
Gentzen, G. (n.d.). Investigations into logical deduction. In The collected papers of Gerhard Gentzen (pp. 68-131). North-Holland.
Gödel, K. (1933). An interpretation of the intuitionistic propositional calculus. In Kurt Gödel: Collected Works: Volume I: Publications 1929-1936 (pp. 300-302). Oxford University Press.

Gödel, K. (1941). In what sense is intuitionistic logic constructive? In Kurt Gödel: Collected Works: Volume III: Unpublished essays and lectures (pp. 189-200). Oxford University Press.
Hansson, S. O., \& Hendricks, V. F. (Eds.). (2018). Introduction to formal philosophy. Springer.
Heyting, A. (1966). Intuitionism: an introduction (Vol. 41).
North-Holland.
Kneale, W., \& Kneale, M. (1962). The development of logic. Oxford University Press.
Leitgeb, H. (2009). On formal and informal provability. In New waves in philosophy of mathematics (pp. 263-299). Springer.
López-Escobar, E. G. K. (1972). Refutability and elementary number theory. In Indagationes mathematicae (Vol. 75, pp. 362-374).
Marfori, M. A. (2010). Informal proofs and mathematical rigour. Studia Logica, 96(2), 261-272.
McKinsey, J. C. C., \& Tarski, A. (1948). Some theorems about the sentential calculi of Lewis and Heyting. The Journal of Symbolic Logic, 13(1), 1-15.
Myhill, J. (1960). Some remarks on the notion of proof. The Journal of Philosophy, 57(14), 461-471.

Negri, S. (2005). Proof analysis in modal logic. Journal of Philosophical Logic, 34(5-6), 507.
Negri, S. (2009). Kripke completeness revisited. Acts of Knowledge: History, Philosophy and Logic: Essays Dedicated to Göran Sundholm, 247-282.
Negri, S., \& Von Plato, J. (2011). Proof analysis: a contribution to hilbert's last problem. Cambridge University Press.
Negri, S., Von Plato, J., \& Ranta, A. (2008). Structural proof theory. Cambridge University Press.
Prawitz, D. (1966). An interpretation of intuitionistic predicate logic in modal logic. In Contributions to mathematical logic. proceedings of the logic colloquium, Hannover 1966. North-Holland.
Rauszer, C. (1980). An algebraic and Kripke-style approach to a certain extension of intuitionistic logic (Vol. CLXVII). Panstwowe Wydawnictwo Naukowe.
Shramko, Y. (2016). A modal translation for dual-intuitionistic logic. The Review of Symbolic Logic, 9(2), 251-265.
Sundholm, G. (1983). Constructions, proofs and the meaning of logical constants. Journal of Philosophical Logic, 12(2), 151-172.

Szabo, M. E. (Ed.). (1969). The collected papers of Gerhard Gentzen. North-Holland.
Tranchini, L. (2012). Natural deduction for dual-intuitionistic logic.
Studia Logica, 100(3), 631-648.
Troelstra, A. S., \& Schwichtenberg, H. (2000). Basic proof theory
(No. 43). Cambridge University Press.
Urbaniak, R., \& Pawlowski, P. (n.d.). Logics of (formal and informal) provability. In Introduction to formal philosophy (pp. 191-237). Springer.
Urbas, I. (1996). Dual-Intuitionistic Logic. Notre Dame Journal of Formal Logic, 37(3), 440-451.
Wansing, H. (2008). Constructive negation, implication, and co-implication. Journal of Applied Non-Classical Logics, 18(2-3), 341-364.

## Employing the concepts

Characterising the logic of Refutability:

- $\neg\rangle$-translation
- $\mathrm{BHK}_{\text {DI }}$ interpr.
- the abstraction a refutes $A \wedge B$ iff $\mathbf{a}$ is of the form $\left\langle\mathbf{i}, \mathbf{a}^{\prime}\right\rangle$ with $\mathbf{i}$ either $\mathbf{0}$ or $\mathbf{1}$, such that for $\mathbf{i}=\mathbf{0}$ then $\mathbf{a}^{\prime}$ refutes $A$ and for $\mathbf{i}=\mathbf{1}$ then $\mathbf{a}^{\prime}$ refutes $B$.
- the abstraction a refutes $A \vee B$ iff $\mathbf{a}$ is of the form $\left\langle\mathbf{a}^{\prime}, \mathbf{a}^{\prime \prime}\right\rangle$ and $\mathbf{a}^{\prime}$ refutes $A$ and $\mathbf{a}^{\prime \prime}$ refutes $B$.
- the abstraction a refutes $A \prec B$ iff $\mathbf{a}$ is a general method of abstraction such that for $\mathbf{a}^{\prime}$ refuting $A$, the hypothetical abstract $\mathbf{a}\left(\mathbf{a}^{\prime}\right)$ refutes $B$.
- the abstraction a refutes $\neg A$ iff $\mathbf{a}$ is a general method of abstraction such that for $\mathbf{a}^{\prime}$ refuting $A$, the hypothetical abstract $\mathbf{a}\left(\mathbf{a}^{\prime}\right)$ refutes $T$.
- the abstraction a refutes $\forall x A$ iff $\mathbf{a}$ is of the form $\left\langle a, \mathbf{a}^{\prime}\right\rangle$, where $\mathbf{a}$ is an individual such that $\mathbf{a}^{\prime}$ refutes $A(a / x)$.
- the abstraction a refutes $\exists x A$ iff $\mathbf{a}$ is a general method of abstraction such that given any individual a from the species under consideration, $\mathbf{a}(a)$ refutes $A(a / x)$.
- every abstraction refutes $\perp$.
- no abstraction refutes T .


## Employing the concepts

Characterising the logic of Unprovability:

- $\mathrm{BHK}_{\mathrm{I}} \rightarrow$ interpr.
- $\square$-translation
- G3I ${ }^{-}$
- the construction $\mathbf{c}$ does not prove $A \wedge B$ iff $\mathbf{c}$ is of the form $\left\langle\mathbf{c}^{\prime}, \mathbf{c}^{\prime \prime}\right\rangle$ and $\mathbf{c}^{\prime}$ does not prove $A$ and $\mathbf{c}^{\prime \prime}$ does not prove $B$.
- the construction $\mathbf{c}$ does not prove $A \vee B$ iff $\mathbf{c}$ is of the form $\left\langle\mathbf{i}, \mathbf{c}^{\prime}\right\rangle$ with $\mathbf{i}$ either $\mathbf{0}$ or $\mathbf{1}$, such that for $\mathbf{i}=\mathbf{0}$ then $\mathbf{c}^{\prime}$ does not prove $A$ and for $\mathbf{i}=\mathbf{1}$ then $\mathbf{c}^{\prime}$ does not prove $B$.
- the construction $\mathbf{c}$ does not prove $A \prec B$ iff $\mathbf{c}$ is a general method of construction such that applied to a hypothetical construct $\mathbf{c}^{\prime}$ that does not prove $A, \mathbf{c}\left(\mathbf{c}^{\prime}\right)$ does not prove $B$.
- the construction $\mathbf{c}$ does not prove $\neg A$ iff $\mathbf{c}$ is a general method of construction such that applied to a hypothetical construct $\mathbf{c}^{\prime}$ that does not prove $A, \mathbf{c}\left(\mathbf{c}^{\prime}\right)$ does not prove $T$.
- the construction c does not prove $\forall x A$ iff $\mathbf{c}$ is a general method of construction such that given any individual a from the species under consideration, $\mathbf{c}(a)$ does not prove $A(a / x)$.
- the construction $\mathbf{c}$ does not prove $\exists x A$ iff $\mathbf{c}$ is of the form $\left\langle a, \mathbf{c}^{\prime}\right\rangle$, where $a$ is an individual such that $\mathbf{c}^{\prime}$ does not prove $A(a / x)$.
- every construction c does not prove $\perp$.
- no construction c does not prove $T$.


## A refined Square of opposition?

- KF axiom: $\neg \neg \forall x(A(x) \vee \neg A(x))$
- DKF axiom: $\neg \exists x(A(x) \wedge \neg A(x))$


